


 

 

     

Q1.Which of the following is always odd?  

(a) Sum of two odd numbers     (b) Difference of two odd numbers 

(c) Product of two odd numbers     (d) None of the above 

Q2.What is the number of odd days in a leap year?  

(a) 2        (b) 1 

(c) 3        (d) 4 

Q3. If Today is Tuesday, what will be the day after 94 days? 

(a) Monday       (b) Saturday 

(c) Friday       (d) Tuesday 

Q4.In the following number series how many 6's are there which are immediately preceded by a 

pair of numbers whose product is more than the product of pair of numbers immediately 

following 6? 

3 4 6 5 1 6 9 1 6 2 2 4 1 6 3 5 6 4 4 5 8 4 5 9 4 3 9 6 7 3 5 2  

(a) 1        (b) 2 

(c) 4        (d) 3 

Q5.Four boys A, B, C and D are up on the ladder. A is further up the ladder than B. B. is 

between A and C. If D is further up than A, who is the third from the bottom? 

(a) B         (b) C  

(c) A         (d) D 

Q6.The radius of a circular pipe is 10 cm. What length of tape is required to wrap 

once around the pipe? 

(a) 62.8 cm       (b) 63.8 cm 

(c) 64.8 cm        (d) 65.8 cm 

Q7.The mean marks of class X is 100. The sum total of their numbers is 1500, then find the 

number of students in the class  

(a) 14         (b) 15  

(c) 16         (d) 17 



 

 

     

Q8.Find the cost of fencing a rectangular park of length 250 m and breadth 175 m at the rate of 

Rs. 12 per meter:  

(a) Rs. 10200        (b). Rs. 11200  

(c) Rs. 10400        (d) Rs. 11400  

Q9.Anish made 42 runs in 6 overs and Anup made 63 runs in 7 overs. Who made more runs per 

over ?  

(a) Anish        (b) Anup  

(c) Both scored equal       (d) Invalid  

Q10.Which word does not belong with the others ?  

(a) Rug        (b) Couch  

(c) Table        (d) Chair  

Q11.Antonym of 'foremost':  

(a) Disposed        (b) Mature  

(c) Unimportant       (d) Hindmost 

Q11.Yard is to inch as quart is to  

(a) Gallon        (b) Ounce  

(c) Milk        (d) Liquid 

Q13.Find the synonym of the word 'recuperate'  

(a) Rehabilitate       (b) Recover  

(c) Reimburse        (d) Preempt 

Q14.Find the meaning of the definition, 'A person who readily believes others' 

(a) Credible       (b)Credulous  

(c) Sensible        (d) Sensitive  

Q15.Find the correctly spelt word:  

(a). Ommineous       (b) Omineous  

(c) Ominous        (d) Omenous 



 

 

     

Q15.Rasik walked 20 m towards North. Then he turned right and walks 30 m. Then he  
turns right and walks 35 m. Then he turns left and walks 15 m. Finally he turns left and walks 
 15 m. In which direction and how many metres is he from the starting position?  
(a) 15 m West      (b) 30 m. West  

(c) 30 m East      (d) 45 m East 

Q17.“Rule of Law Index” is released by which of the following?  

(a) Amnesty International 

(b) International Court of Justice  

(c) The Office of UN Commissioner for Human Rights 

(d) World Justice Project 

Q18.Instruction for Q. (18 to 22): Use the information given in the statements below to answer 

the questions.  

a. Six students, L, M, N, O, P and Q are completing degree in six different subjects. The subjeets 

are Physics, Hindi, Sanskrit, History, Geography and Maths. 

b.Among them two live in hostels and two live in their homes, one in dharamshala and one as 

a.paying guest. 

c.P does not live in dharamshala and studies Geography.  

d. The students who study Physics and Maths do not live in hostels.  

e. M lives as a paying guest and studies Hindi.  

f. O lives in hostel and does not live in his house.  

g. I studies History and Q studies Maths. N studies Physics and lives in his house. . 

Q18. Which pair is definitely incorrect in relation to subject and residential place, 

(a) Maths-House     (b) History-House  

(c) Geography-Hostel    (d) Sanskrit-Hostel  

Q19.Which pair of students live in their house?  

(a) Q-N      (b) P-L 

(c) L-Q     (d) None of these  



 

 

     

Q20.Where do Geography students reside?  

(a) Hostel      (b) House  

(c) Paying guest     (d) Dharamshala  

Q21.In the given pair of students, one child lives in hostel and the other at his home?  

(a) Q-N      (b) N-O  

(c) P-Q      (d) OM 

Q22.In which year, The Citizenship Act was passed?  

(a) 1950      (b) 1955  

(c) 1960      (d) 1965  

Q23.If South East becomes North and North East becomes west and so on. What will West 

become?  

(a) North East      (b) North West  

(c) South East      (d) South  

Q24.Find the number that is missing in the series: 2, 7, 17, 32, 52, 77……….  

(a) 107      (b) 91  

(c) 101      (d) 92 

Q25Who is credited with drafting the Indian Penal Code 1860 ?  

(a) Sir James Stephen     (b) Charles Wood   

(c) John Morley     (d) Lord Macaulaya.. 

Q26.I cannot entrust my money ............. her.  

(a) with      (b) from  

(c) to       (d) on 

Q27.The antonym of eminent is:  

(a) Special      (b) Foreign  

(c) Ordinary      (d) Excellent  



 

 

     

Q28.It is one of the biggest churches of the world; we find a good..............of worshippers  

on every Sunday.  

(a) .cluster      (b) chain  

(c), class      (d) congregation 

Q29. I had no other hobby ................ that of collecting books. 

(a) apart      (b) when  

(c) or      (d) than 

Q30.Before buying a refrigerator, make sure that it conforms ......official safety standards.  

(a) in       (b) of  

(c) for      (d) to  

Q31. Salman ran…………….the stairs and opened the door.  

(a) across      (b) up  

(c) into      (d) within 

Q32.He does not want to see :  

(a) no one      (b) not any one  

(c) anyone      (d) someone 

Q33.Choose the part which has an error:  

(a) with a lot of persuasion    (b) the villagers agreed to  

(c) participate in the    (d) family welfare programme  

Q34. The leaders were ..................... needed by those to ................ they addressed. 

(a) angrily, who     (b) joyfully, when  

(c) scarcely, whom    (d) rarely, where  

Q35. A phrase "seeing eye to eye" means: 

(a) Agreeing with someone    (b) Disagreeing with someone  

(c) Deceiving someone   (d) Behaving rudely with someone  



 

 

     

Q36. The cooperation and esprit de corps between the soldiers and the others was directly 

responsible for their victory. The meaning of the underlined idiom is 

(a) Bravery      (b) Unity  

(c) Subordination    (d) Adjustment  

Q37. Choose the exact meaning of the underlined idioms / phrases, When I saw him in the 

morning, he looked like a duck in a thunderstorm.  

(a) entrapped      (b) distressed  

(c) peaceful      (d) indomitable 

Q38. Mr. Kamlesh is an authority................ International Law.  

(a) over      (b) to  

(c) on       (d) of 

Q39.Find out the errors, if any, in any part of the sentence:  

(a) Now I understand     (b) why Shyanı did not  

(c) told me the reason     (d) why he was late  

Q40.Chicanery is a synonym of:  

(a) psychic      (b) rude  

(c) fraud      (d) Small 

Q41.Choose the part which has an error :  

(a) The Chairperson     (b) asked Mr. Sabir  

(c) why had he     (d) come late to the office  

Q42.The judge ................ the use of capital punishment for serious crimes  

(a) franchised      (b) endorsed"  

(c) agreed      (d) evoked 

43. Ultimately, one of the parties to the dispute relinquished his claim ownership of the property. 

Relinquished means:  

(a) yielded      (b) ceded  



 

 

     

(c) designed      (d) gave up  

Q44.A place in which bees are kept:  

(a) Beehive      (b) Apiary  

(c) Aviary      (d) Nectar 

Q45. Many people were…………..by plague  

(a) carried away     (b) carried off  

(c) carried out      (d) carried on 

Q46.The meaning of the idiom. "to blase a trail is:  

(a) To set on fire     (b) To blow the trumpet  

(c) To initiate work in a movement   (d) To be hopeful  

Q47. The meaning of 'Corpus Juris' is :  

(a) Body of Judges     (b) Group of Jurists  

(c) Body of Law     (d) Knowledge of Law  

Q48."To break law" means:  

(a) to reject      (b) to contravene  

(c) to intervene     (d) to contradict 

Q49.The antonym of 'disburse' is:  

(a) disappear      (b) focused  

(c) collect      (d) recycle  

Q50. I have bread and butter for my breakfast…………..? 

(a) haven't I      (b) have 1  

(c) don't I      (d) doesn't  

Q51.Who was the first woman Deputy Chairman of Rajya Sabba ?  

(a) Meira Kumar     (b) Sarojini Naidu  

(c) Margaret Alva     (d) Amrit Kaur 



 

 

     

Q52.Which of the following British Prime Ministers sent Cripps Mission to India ?  

(a) MacDonald     (b) Baldwin  

(c) Chamberlain     (d) Churchill 

Q53."Blue Flag" certification by Ministry of Environment is related to 

(a) Lake clean up     (b) Atmosphere clean up  

(c) Beach clean up     (d) River clean up  

Q54.Who among the following is described as the First Law Officer of India ?  

(a) Chief Justice of India  

(b) Registrar General of Supreme Court of India  

(c) Attorney General of India  

(d) Secretary, Ministry of Law and Justice 

Q55. Which of the following is correctly matched?  

(Organisations)   -(Headquarter)  

(a) European Union               - Paris  

(b) International Court of Justice   -The Hague.  

(c) UNESCO    -Geneva  

(d) SAARC    -New Delhi  

Q56.The System of Proportional Representatiou by means of Single Transferabie Vote is used in 

the election of:  

(a) Members of Lok Sabha     (b) President of India 

(c) Members of State Legislative Assembly   (d) Members of Zila Parishad  

Q57.Which one is considered as the first month of Islamic Calendar :  

(a) Safar       (b) Rajab  

(c) Ramadhan       (d) Muharram 

Q58. The atmospheric pressure' is measured by: 



 

 

     

(a) Silver barometer      (b) Mercury barometer  

(c) Aluminum barometer     (d) Ferrous barometer 

Q59.Chilka Lake is in:  

(a) Kashmir       (b) Rajasthan  

(c) Punjab       (d) Odisha  

Q60.The term 'pietra dura' is related to:  

(a) Secret Letters of the emperor    (b) Painting  

(c) Surface decoration     (d) Hunting excursions  

Q61.Ibrahim Adil Shah II, popularly known as “Abla Baba', was the ruler of:  

(a) Bijapur       (b) Golconda 

(c) Ahmadnagar      (d) Malwa 

Q62. Which of the following is the biggest lake in the world?  

(a)Caspian Sea     (b) Superior Lake  

(c) Victoria Lake      (d) Baikal Lake 

Q63.Which one of the following Fundamental Rights was termed by Ambedkar as the "Soul of 

the Constitution"?  

(a) Right to Liberty      (b) Right to Equality  

(c) Educational and Cultural Rights    (d)Right to Constitutional Remedies 

Q64. Who was the permanent President of the Constituent Assembly?  

(a) B.N. Rao       (b) Dr. Ambedkar  

(c) Dr. Rajendra Prasad     (d) Sachidanand Sinha 

Q65.Which one of the following gases dissolves in water to give an acidic solution?  

(a) Carbon dioxide      (b) Oxygen  

(c) Nitrogen       (d) Hydrogen  

Q66.The first BRICS Summit, after the inclusion of South Africa, was held at:  



 

 

     

(a) Brasilia       (b) Şanya  

(c) Yekaterinburg      (d) Durban  

Q67.In 1773, the Supreme Court was set up in Calcutta by:  

(a) Regulating Act      (b) Pitt's India Act  

(c) Charter Act      (d) None of the above  

Q68.The Mughal ruler who banned the use of tobacco in India was: ''  

(a) Akbar       (b) Sher Shah  

(c) Jahangir       (d) Bahadur Shah Zafar 

Q69.Government of India has announced a new committee to expedite the process of 

transforming India into cashless economy under the chairmanship of :  

(a) N.S. Vishwanathan     (b) H.R Khan  

(c) Amitabh Kant      (d) Bibek Debroy 

Q70.Which ruler of Bhopal provided money for the preservation of Sanchi Stupa and also 

funded the museum that was built there?  

(a) Nawab Walidad Khan     (b) Nawab Razik Khan Pataudi  

(c) Nawab Kamdar Khan     (d) Nawab Sultan Jahan Begum  

Q71.Which of the following is not correctly matched ?  

(a) Gulbadan Begum      - Humayun Nama  

(b) Faizi      - Akbar Nama  

(c) Mohammad Kazim    - Alamgir Nama  

(d) Abdul Hamid Labori  - Badshah Nama  

Q72.English is the official language of which Indian state ?  

(a) Nagaland       (b) Karnataka  

(c) West Bengal      (d) Maharashtra  

Q73.During the time of Sher Shah Suri and Mughals, along the Grand Trunk Road, by the side of 

the roads, four to five meter high brick pillars were erected. These pillars are called:  



 

 

     

(a) Sarais       (b)Janjira  

(c)kos Minars      (d) Pradeshik  

Q74.According to Jainism, Mahavira was preceded by:  

(a) 24 Tirthankaras      (b) 23 Tirthankaras  

(c) 20 Tirthankaras      (d) 10 Tirthankaras  

Q75.In ancient Roman writings, which of the following places of India is mentioned as  

Barygaza ?  

(a) Budhagaya      (b) Bombay  

(c) Bharuch       (d) Brihadpura 

Short answer type questions:  

1.  Are human rights universal? Comment. 

2. "Honour killings are affront on Women Rights." Discuss. 

3. Should death penalty be abolished in India? 

4. Do you agree that the Armed Forces (Special Powers) Act of 1958 (AFSPA) be 

withdrawn from the Jammu and Kashmir.  

5. Do you think that press conference by four senior most judges of the Supreme Court 

Judges was justified  

6. Should the sedition law be scrapped ? Discuss.. 

7. What is natural justice? 

8. "The courts should not intervene in religious matters." Argue for and against the 

statement. 

9. Do you agree with the statement that Aadhar Scheme does not violate right to privacy? 

10. Do you think that the words "Muslim" and "Hindu" should be dropped from the names of 

the Aligarh Muslim University (AMU) and the Banaras Hindu University (BHU) to 

reflect their secular character? 
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